
Exercise Chapter 12-1

What is the source of the 21 cm radio radiation? __________________

What causes an interstellar cloud to collapse ____________________

What happens to the collapsing when it becomes opaque? ____________

An in stage 4 or 5 is a ______________________________

The path on the H-R Diagram of a forming star is an ________________

What happens to make a forming star become a real star? _____________ 

An object too small to become a real star becomes a _________________

The Turn-off Point reveals the _________ of a star cluster.

A state of balanced inward and forces in a star is ___________________

The changes in a star over its lifetime are its _______________________

The ignition of helium in an aging star is called the _________________

The core of a dying sun-like star is seen as a ____________________

The expanding outer layers around the old core make a _______________

We know that the nova phenomenon occurs because _____________________


